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SELECT THE BEST ANSWER FOR EACH OF THE FOLLOWING ITEMS:

BE A-R15 4

8% 32|10 325

The contract price of a long-term construction project is $8,200,000 and total costs are
estimated at $6,000,000, During the first year, costs incurred on the project amounted

to $3,600,000. If the percentage-of-completion method is used, the gross profit recognized
for the year on this project would be:

a

$880,000 b $1,320,000 c $2,400,000 d $3,280,000

The par value of the common stock of a large listed corporation:

fo R o BN o 2

If a

Tends to establish a ceiling for the market price of the stock
Tends to establish a floor for the market price of the stock
Represents legal capital and is not related to the market price of the stock

Is increased by net income and decreased by dividends

corporation issues some of its common stock in exchange for assets other than cash,

the transaction should be recorded at the:

a
b
c
d

Current market value of the assets received
Stated value of the shares issued

Par value of the shares issued

Book value of the shares issued

The account Discount on Notes Payable:

a

b

c

d

Normally has a debit balance and is amortized over the life of the note by transfer
to Interest Expense *
Normally has a credit balance and appears in the balance sheet as an addition to

the amount of Notes Payable

Should be used in recording a note payable if the interest rate on the note is stated
separately, such as 10% a year

Is amortized over the life of the note by transfer to Interest Revenue

The purpose of making reversing entries is to:

a
b
c

d

Correct errors in the accounting records

avoid overstating the income of the current period

allow bookkeepers to record transactions occurring shortly after year-end

in a routine manner

Return the balances of the temporary proprietorship accounts to zero and update
the balance of the owner's capital account

Of the following, the best description of internal accounting controls is:

a
b

c
d

Measures designed to prevent dishonesty by employees

Procedures for limiting the number of persons who handle the various aspects

of a given transaction

Measures taken to safeguard assets and ensure reliability in the accounting records
The serial numbers appearing on important business documents

Which of the following is a capital expenditure?

a
b
c
d

Small expenditures to acquire long-lived assets, such as $12 to purchase a wastebasket
Monthly rent of a delivery truck

Research and development costs

Sales tax paid in conjunction with the purchase of office equipment

The relationship between the income statement and the balance sheet may be described
as follows:

a

b

The assets shown in a balance sheet include all of the revenue shown in the

income statement .

The halance sheet summarizes the change in net income occurring between successive
income statements

The income statement summarizes the changes in cash occurring between two balance
sheet dates

The income statement explains part of the change in owner's equity between two
balance sheet dates




